N°1
CAR PARC
COVERAGE

GUARANTEE

=2

L =
YEARS
PE-AX-5749
C > M14x1.5 X 2.0 Turbo, 2.1 TD, 3.0 v6, HDi
PE-AX-0645
PE-LS-0595 C > M16x1.5 / 2.0 Turbo, 2.1 TD, 3.0 v6, HDi
C 2 & B10mm —+12/94
PE-DS-5041
© 2 & @12mm 01/95-03/99 —RP 8151
PE-LS-0592
& D & P12mmRP 8151—  03/99—

CI-SB-6694
& 2 X Activa, Estate @22mm

CI-SB-1307

K150043
C 2/ 1.8i (XUTJP)
v/ 1.9D (XUD9A/SD)
v/ 1.9TD (XDOT/TE/TY)
K150122
C 2 X 1.6i, X 1.8i (XU7JP)
X 1.9D (XUD9A/SD)
X 1.9TD (XDOT/TE/TY)

PE-ES-5723|PE-ES-5724
C M14x1.5 | D M14x1.5
PE-ES-1668|PE-ES-1656
C M16x1.5 | D M16x1.5

CI-SB-1308
(=)

CI-TC-0160]CI-TC-0161
c S PE-BJ-3347

co

~. | CI-RK-3569
) c2

www.moogparts.com



